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FEMERHEASA:

1) What is the main idea of this passage (paragraph)?

2) Which would be the best ( most suitable) title for this passage (paragraph)?

3) The purpose of this passage is ?

4) The (main) subject of the passage (paragraph) is ?

5). What is the author’s main point?

6) The passage (paragraph) is mainly about ?
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1) Which of the following statements is true (not true) ?

2) All the following statements are true (not true) except ?

)

3) Which of the following is not mentioned with regard to

4) The author states that ?

3. HEMTRE, HEWTAE 3R T A R A AR AR R A SC R IR B UL R R ) B S s A
KAE A FB A A HEE AN IR, X TR T8 AR AR MO P 4R BN
£, MTENFRATR A FHRE B X SE G WS E T, 27900t R4 1R
R E1EE R E R HERT

HEWTRIH W ZATE A
1) From the passage it can be inferred that ?
2) Implied but not stated ?

.2.



3) The passage suggests that ?

4) What can be concluded from the passage ?

5) The author probably feels that ?

4. AR, fifR iR A WU A A R 3 o X i B A B R SO B R 1o B AE XS
SR IE A EELEN BT SGERERE A5 B T RIERAEHE. #
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f#, TRESRMREEXER,

PR AR
1) The word (phrase ) “...” means ?

2) The word (phrase) “...”is closest to ?

3) By “...” the author means ?

4) The word (phrase) “...” can best be replaced by which of the following?
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Passage 1
Questions 1 to S are based on the following passage

Trees are useful to man in three very important ways; they provide him with wood and
other products; they give him shade; and they help to prevent droughts (F5.) and floods.

Unfortunately, man has not realized that the third of these services is the most important.
Two thousand years ago a rich and powerful country cut down its trees to build warships, with
which to gain itself an empire (7% [E ). It gained the empire, but, without its trees, its soil
became hard and poor. When the empire fell to pieces, the home country found itself faced by
flood and starvation.

Even though a government realizes the importance of a plentiful supply of trees, it is

difficult for it to persuade villagers to see this. The villagers want wood to cook their food with ;

. 3.



and they can earn money by selling wood. They are usually too lazy to plant-and look after the
trees. So, unless the government has a good system of control, or can educate the people, the
forests will slowly disappear.

This does not only mean that the villagers’ children and grandchildren will have fewer
trees. The results are even more serious, for where there are trees their roots break the soil
up—allowing the rain to sink in—and also bind the soil, thus preventing its being washed away
easily, but where there are no trees, the rain falls on hard ground and flows away from the
surface, causing flood.

(2005 4£ 11 Aid8H)
1. What is the most important function of trees?
A. Providing fuel.
B. Offering shade.
C. Preventing natural disaster.
D. Providing wood.
2. What eventually happened to the empire in the paragraph?
A. Tts people died of hunger.
B. It fell to pieces.
C. It became a giant empire.
D. It built many ships with wood.
3. It is implied in the passage that the villagers
A. want a plentiful supply of trees
B. want firewood badly
C. just want to get money
D. don’t realize the importance of trees
4. The role of trees is to
A. loosen soil
B. keep soil in position
C. harden soil
D. both A and B
5. What is the passage mainly concerned with?

e 4.



The benefits of trees.
Trees and soil protection.

The various uses of trees.

ST N

Different attitudes toward trees.

Passage 2
Questions 6 to 10 are based on the following passage :

By adopting a few simple techniques, parents who read to their children can greatly
increase their children’s language development. It is surprising but true. How parents talk to
their children makes a big difference in the children’s language development. If a parent
encourages the child to actively respond to what the parent is reading, the child’s language
skills increase.

A study was done with 30 three-year-old children and their parents. Half of the children
participated in the experimental study; the other half acted as the control group. In the
experimental group, the parents were given a two-hour training session in which they were
taught to ask open-ended questions rather than yes-or-no questions. For example, the parent
should ask, “What is the doggie doing?” rather than “Is the doggie running away?” The
parents in the experimental group were also instructed in how to help children find answers,
how to suggest alternative possibilities and how to praise correct answers.

At the beginning of the study, the children did not differ in measures of language
development, but at the end of one month, the children in the experimental group showed
5.5 months ahead of the control group on a test of verbal expression and vocabulary. Nine
months later, the children in the experimental group still show an advance of 6 months over the
children in the control group.

(2004 4 11 A iA8%)
6. Which of the following can be inferred from the passage?
A. Children who talk a lot are more intelligent.
B. Parents who listen to their children can teach them more.
C. Active children should read more and be given more attention.
D

. Verbal ability can easily be developed with proper methods.



7. What does “it” in line 2 can most probably be replaced by?
A. Parents increasing children’s language development.
B. Reading techniques being simple.
C. Parents reading to children.
D. Children’s intelligence development.
8. According to the author, which of the following questions is the best type to ask children
about?
A. Do you see the elephant?
B. I§ the elephant in the cage?
C. What animals do you like?
D. Shall we go to the zoo?
9. The difference between the control group and the experimental group was
A. the training that parents received
B. the age of the children
C. the books that were read
D. the number of the children
10. The best conclusion we can draw from the passage is that
A. parents should be trained to read to their children
B. the more children read, the more intelligent they will become
C. children’s language skills increase when they are required to respond actively
D.

children who read actively seem six months older

Passage 3
Questions 11 to 15 are based on the following passage:

The agriculture revolution in the nineteenth century involved two things: the invention of
labor-saving machinery and the development of scientific agriculture. Labor-saving machinery

“

naturally appeared first where labor was scarce. “In Europe”, said Thomas Jefferson, the
object is to make the most of their land, labor being sufficient; here it is to make the most of
our labor, land being abundant. ” It was in America, therefore, that the great advances in

nineteenth-century agricultural machinery first came. At the opening of the century, with the
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exception of a crude (#1¥EAY) plow, farmers could have carried practically all of the existing
agricultural tools on their backs. ,

By 1860, most of the machinery in use today had been designed in an early form. The
most important of the early inventions was the iron plow. As early as 1890 Charles Newbolt of
New Jersey had been working on the idea of a cast-iron plow and spent his entire fortune in
introducing his invention. The farmers, however, would home none of it, claiming that the iron
poisoned the soil and made the weeds grow. Nevertheless, many people devoted their attention
to the plow, until in 1869, James Oliver of South Bend, Indiana, turned out the first chilled-
steel plow.

(2004 48 11 H A88)

11. The word “here” (Para.1, Line 4) refers to

A. Europe

B. America

C. New Jersey

D. Indiana
12. Which of the following statements is NOT true?

A. The need for labor helped the invention of machinery in America.

B. The farmer rejected Charles Newbolt’s plow for fear of ruin of their fields.

C. Both Europe and America had great need for farmer machinery.

D. It was in Indiana that the first chilled-steel plow was produced.
13. The passage is mainly about

A. the agriculture revolution

B. the invention of labor saving machinery

C. the development of scientific agriculture

D. the farming machinery in America
14. At the opening of the nineteenth-century, farmers in America

A. preferred light tools

B. were extremely self-reliant ( § 45#)

C. had many tools

D. had very few tools



15. It is implied hut not stated in the passage that
A. there was a shortage of workers on America farms
B. the most importanf of the early invention was the iron plow
C. after 1869, many people devoted their attention to the plow
D. Charles Newbolt had made a fortune by his cast-iron plow
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Passage 1

L[C] 41/, XEF-BREIIMAEATEW AN ALEH, B_BE—-AX
RIIAFEMRALRHEANRBH L =SB ARBINEH, RoTUBH CH
ARER,

2.[B] iR, \XESE _BEE—AEATLIEH B IARBER,

3.[D] 1., MEBL=BEPRIAH LA : “The villagers want wood to cook their food

with; and they can earn money by selling wood. They are usually too lazy to plant and look
after the trees. ” i] U5 i A R Z BT LUXREM, F R E RMBAIREE T MAM N EEH,
D TS TR =R, A E R K D,

4. (D] Y., BIEXEBEFE—BRBHNZE:“...for where there are trees their roots break
the soil up—allowing the rain to sink in—and also bind the soil, thus preventing its being

washed away...” AJ LATBH D AATE R,
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Passage 2
6. [D] HEWE, BREF B, CE 5 AR “By adopting a few simple techniques,
parents who read to their children can greatly increase their children’s language
development. ” KR : SCEFAG BT B2 AT M 3 i SR F T SR 5 36 T AR B BT 10
BB JRXH 1 language development” Xif i B3 H fiY) “ verbal ability” , #( AT LAHEKT
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. [A] W%, MHE L FICHT A, “It is surprising but true. ” FF1H it $E 92 EAIRBINS
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KR

[C] #HWiE, BIEE _BRIERIM“...In the experimental group, the parents were given a
two-hour training session in which they were taught to ask open-ended questions rather than
yes-or-no questions. " KE & : S 5LRMX—4H B, MERKIETH/PE I, Bt
I BFAIE — S FF B R R, TR R R AR SRR MR, M~
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[A] AR, %5 B % “In the experimental group,the parents were given a two-hour
training session...” 7ESCI A , SRR T WA/ 5N, TSR AL I A B IF B
TR, WERRI A,

[C] #HWE, F—BiE5—H#% “If a parent encourages the child to actively respond
to what the parent is reading,the child’s language skills increase. ” {} 52 K < & i % 171
TR K AT BN EE L BB B, B2 FHEFTREIRSES. &
BRAC,

Passage 3

11.

12.

[B] A&, JE 8| T Thomas Jefferson % ;: “In Europe” ,said Thomas Jefferson,
“the object is to make the most of their land, labor being sufficient; here is to make the
most of our labor, land being abundant. ” KE R . ZTEMRNF I EL, AT BHREER
SR A, EXEN 3, B iR RAERFEAZE 1. %A A AR EE
&4 B &, W X RZ R BN AR Y, BTER2] T Europe, 5 H N & BK I 2Z 5t
M. FXD ERAT “It was in America...” FFLAE 1% B,

[C] HiiE, AEnRAZTHEERE. BB # D WA S &N, NIREXE, 5
XFNETRIEFM ., BT REHER A f1 C fi—4, HHE“ Labor-saving machinery

naturally appeared first where labor was scarce...It was in America, therefore ,that the great

advances in nineteenth-century agricultural machinery first came. ” " %] A IE#, ik R
A C RHERN,
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14. [D] #EWTRE, #2H%“At the opening of the century,with the exception of a crude (Af¥E
i) plow,farmers could have carried practically all of the existing agricultural tools on their
backs. "19 HEHIER T —FEBER R LIS, RR T LUR BILEHARRE . 840
HIRRIRD D HIEHER.

15.[A] #:Mr 8, # 4% “Labor-saving machinery naturally appeared first where labor was
scarce. ” A M4 57 J1 AL VB E SE R AEBRZ 9530 h syt BLAY, T € 19 i
LR T EBS TRAHES , e T M, S Z R RGRE 30,
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Passage 1
Questions 1 to 5 are based on the following passage

A youngster’s social development has a profound effect on his academic progress. Kids
who have trouble getting along with their classmates can end up behind academically as well
and have a higher chance of dropping out (ijB2#). In the early grades especially, experts say,
youngsters should be encouraged to work in groups rather than individually, so that teachers
can spot children who may be having problems making friends. “ When children work on a
project” , says Lillian Kate, an educational professor at the University of Illinois, “they learn
to work together, to disagree, to think, to take turns and lighten tensions. These skills can’t be
learned through lecture. We all know people who have wonderful technical skills but don’t have
any social skills. Relationships should be the first R. ”

At a certain age, children are also learning to judge themselves in relation to others. For
most children, school marks the first time that their goals are not set by an internal clock but
by the outside world. Just as a 1-year-old struggling to walk, a 6-year-old is struggling to meet
adults’ expectations. “Young kids don’t know how to distinguish between effort and ability. ”
says Professor Hill, an early-childhood educator for the state of New Jersey, “If they try hard

to do something and fail, they may conclude that they will never be able to accomplish a
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